
 
 

Ch. 4 Quadratic Equations 
4.3 Solving Quad.Eq. by Completing the Square 

 
Solving Quadratic Equations: 

4.1 By graphing 
4.2 By factoring 

4.3 By completing the square 
4.4 By using quadratic formula 

 
 
EXAMPLE:  Solve x2 − 4𝑥 − 5 = 0 

i) By factoring 
 

ii) By completing the square 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
Completing the Square (radical) method: 

Best to use if the equation is already in vertex form or it cannot be factored: 
1. 𝑥2 − 10 = 0 

 
 
 
 
 
 
 

2.  (𝑥 − 1)2 − 49 = 0 
 
 
 
 
 
 
 

3. (𝑥 + 2)2 − 5 = 0 
 
 
 
 

1) Complete the square (if 𝑏 ≠ 0) 
2) Isolate the squared term 
3) Take square root of both sides 
4) Make sure to keep both ± roots 
5) *Discard extraneous root 



 
 
 
 

 
4. 0 = 𝑥2 + 4𝑥 − 10 

 
 
 
 
 
 
 
 

5. 5 = 2𝑥2 − 8𝑥 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Application Problem 
How far does the soccer ball travel if the function that models its trajectory is as follows? 

ℎ(𝑥) = −0.016𝑥2 + 1.152𝑥 − 15.2 
 


